Texas DMV Test

Questions
and
Answers



Q:1-What does this sign mean?

A T-intersection is ahead; yield to cross traffic.
[ A tourist information center is ahead; stop if needed.
[] A side road is ahead; watch for vehicles entering the roadway.

] A four-way intersection is ahead; prepare to yield.

Q:2-All trucks and buses have

front and side blind spots
rear and front blind spots
side and rear blind spots

¥ None of the above

Q:3-When the yellow lights are flashing, all drivers approaching must obey the posted speed limit of 20 mph.

¥ @& school zone
a construction zone
] an expressway

a railroad crossing



Q:4-This road sign notifies drivers to give way to vehicles on the road they are approaching

[J by accelerating before entering the intersection.
[] by slowing down before entering the intersection.
[] by making a turn before entering the intersection.

by stopping before entering the intersection.

Q:5-A driver who wants to enter a highway from a private road

must stop and yield to the vehicles on the highway.
[0 must switch on the flashing lights of the vehicle and enter the highway.

[ can take a sharp turn and enter the highway while blowing the horn.

[J can enter the highway without signaling.



Q:6-This sign indicates that

<

a two-lane highway starts at the sign.

you must go to either side.

00 O

you must merge right or left.

[

two-way traffic starts at the sign.

Q:7- are designed to allow vehicles to slow down and leave the expressways.

[] Acceleration lanes
0 Turnpikes

(] Exit ramps
Roundabouts



Q:8-If you are one of the first persons to come upon the scene of a collision, what should you do?

Notify the local police.
[ Pull your vehicle off the road.

[] Turn off the ignition of vehicles involved in the crash.

1 All of the above

Q:9-Passing on the right is permitted in all of the following situations, except

[ on highways that have at least two lanes traveling in each direction
L1 when driving in a lane set aside for left turns
[1 when passing a vehicle that is in the left-turn lane

on one-way streets where all lanes of traffic move in the same direction

Q:10-On a multilane roundabout, if you intend to exit the roundabout less than halfway around it, use
Mark one answer:

the right lane.
[ the left lane.
[1 the center lane.

[1 none of the above.



Q:1-This car's turn and brake signals have failed, so the driver is using hand gestures to

signal instead. What is the driver's intention?

& a

Slow down

[J Tum right

O Increase speed
L] Tum left

Q:2-You are turning a corner. No other cars are around. Do you still need to indicate?

0 No
[ Yes, for a minimum of 1001t if you are driving below 35 mph and 300ft if you are driving faster

[J Yes, for at least 300ft if you are travelling over 35 mph
¥ Yes, for at least 100ft



Q:3-You are turning left into a driveway. What must you do before you proceed?

[J Yield to pedestrians

O Yield to traffic

[J You have right of way; proceed with caution
Yield to pedestrians and traffic

Q:4-Car B wants to cross this divided highway. Who has right of way, and why?

¥l Car A has right of way because it is on a larger road than Car B

[] Car B has the right of way because it is on a smaller road than Car A

[J Car B has the right of way because it is to the right of Car A

[ Car B has the right of way because it has arrived at the intersection first



Q:5-What does this sign mean?

(O] There is a 35 degree comer ahead
[0 The minimum speed for this corner is 35 mph
[J The maximum speed for this corner is 35 mph

¥l The recommended speed for this corner is 35 mph

Q:6-You must come to a complete stop before reaching a school bus which has stopped
for passengers with its red lights flashing. When can you proceed?

3 SCHOOL BUS
1] 1

[J When the bus resumes motion

[] When the flashing red lights are switched off
[1 When the driver signals you to pass
Any of the above



Q:7-Two cars arrive at an uncontrolled intersection. Which of the following is true?

[0 Car B must yield because it is on Car A's right
Car A is to the left of Car B and therefore must yield
[ Car B must yield because it is travelling straight through the intersection

[ None of the above

Q:8-Which vehicle is least likely to be visible to the truck driver?

[J None of the cars would be visible to the truck driver
O CarC
CarB
[ CarA



Q:9-You approach an intersection with a set of traffic signals. The signals are blank, what
should you do?

[J Stop at the intersection as if you have a red light
[] Treat the intersection as if was uncontrolled
[] Continue through as if you have a green light

vl Treat the intersection as if there were STOP signs in all directions

Q:10-What does this sign mean?

SPEED
LIMIT

20

vl The maximum speed limit is 50 mph

[0 The minimum speed limit is 50 mph
[0 The speed limit during the day is 50 mph

[0 The recommended speed limit is 50 mph
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